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Exists some potential function F(2)
peW= Re[F(2)]
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Image method

0+> (L sinmo-s)].  R=p

p(s)=1 "
qs—w—;a(;) sin[m(@— )], R<p
R .EB. C.
so(s,x):9+f1(3)msin[m(e—¢)]
N xeB (S,0) (s0)
o(5,%) = Z Rl) Sin[m(@ - 6)]
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Present method (Superposition)




Present method (Superposition)
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€+Z_(§) sinm(@—¢), p<R
ut(x) = " L R , xeD
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Present method (Superposition)

27U, (X) = f Tu—UtdB(s)

_f” - ii(g)”sin n(0 —0)]
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u,(X) = _E;E(R_p) smm(e—gb)—alnp E;:E(—) (—sin MY cos my 4 cos MY sin M)
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U, (X) = Inae ;m(Rp) sinm(f — o)
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u(x) = u,(X) +u,(x) = , xeb

p@ Z—[( ) +(—) Jsinm(@—¢), R<p<oo



Compare three solution

E. Simth

We (X, Y) = —[afg((x+ly) (Xo+lyo))+af9( (X ¥1) = (% =1¥,))]

Image method

9+Z ) Isin[m(6 — )], R=>p

U(X) i=1

n

¢—7T—Z (£ ) +( )]Sln[m(9 9, R<p

i=1

Present method (superposition)

H—In—p +Z ) Jsinm(@—¢), p<R
i m R
u(x) = xeD

o w—:”—ge 21[(5) +& )]smm(e 8, p>R
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E. Smith close form
a=15 R=175 6=0
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Present method (M=50)
a=15 R=175 60=0
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Thanks your kind attentions



